
1) Using the data below draw a population pyramid for France in 2005.

	MALE POPULATION

in Millions
	AGE
	FEMALE POPULATION

in Millions



	1.9
	0-4
	1.8

	1.9
	5-9
	1.8

	1.9
	10-14
	1.8

	2.0
	15-19
	1.9

	2.0
	20-24
	1.9

	1.9
	25-29
	1.9

	2.2
	30-34
	2.1

	2.2
	35-39
	2.1

	2.1
	40-44
	2.2

	2.0
	45-49
	2.1

	2.0
	50-54
	2.1

	1.9
	55-59
	2.0

	1.3
	60-64
	1.4

	1.2
	65-69
	1.3

	1.1
	70-74
	1.4

	0.9
	75-79
	1.3

	0.6
	80-84
	1.1

	0.2
	85-89
	0.4

	0.1
	90-94
	0.2

	0.1
	95+
	0.1


2) On your pyramid colour 

· all the people aged 0-14 red and label them young dependants

· all the people aged 15-59 blue and label them economically active

· all the people aged 60+ yellow and label them old dependants

3) Explain what is meant by the three terms

· Young dependants

· Economically active

· Old dependants

4) Add the following labels to the most appropriate place on your graph

a) Narrow base shows a low birth rate

b) Straight sides shows a low death rate

c) A baby boom happened when these people were born

d) Large number of old dependants

5) France has an ageing population. What will France’s government have to spend money on to cater for these people?

